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1. The following is a graph of the amount of water being pumped into a tank starting at 12 AM. Initially
the tank is empty. Answer the following questions based on this graph. Label any lines you draw on
the graph with the letter of the question so we can follow your work. Give UNITS with your answers. UO)
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(a) (3 points) Find the Average Rate of Change of water being pumped into the tank in the 2 hour
period starting at 6 AM. Round your answer to the nearest whole number.

Q\OPQ: 2000 —K00, o ,3b gjajiong per hour
.08~ 45D :

(b) (2 points) Find a time when the Overall Rate of Change of water pumped into the tank is 400
gallons per hour. Give your answer like you would read it on a digital clock, e. g. 1:23 PM.

2 3.2 hours = 3 hours 12 mmutes o at about 3:12 AM

(¢) (2 points) At 2 AM, you start pumping water out of the tank at a constant rate of 300 gallons
per hour. Graph the amount pumped out as a lglear function of ti

e on the picture above.
QIOPQ = %00 for rumn= rrse \.U\]ﬂ bhe 1§00

(d) (3 points) Find the time when the amount of water in the tank (after you started the pump out

described above) is minimum. How much water is in the tank at that time? Round your answer
to the nearest i)ailon.

ot ahout A 6.6 Wours
%mDuM ina 1550 gallons
Amoun}t ouct = 300X 6-6-2\= 1460

Difleeng = 170 gatlons




. The picture below shows the Total Cost and Total Revenue for producing and selling Skoopas. Answer
the following questions based on this graph. Label any lines you draw on the graph with the letter
of the question so we can follow your work. Give UNITS with your answers. Graphs are not labeled
intentionally. It is for you to figure out which one is which.

Toral Cost and Total Revenue for Producing and Selling Skoopas TC
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(a) (2 points) What is the Variable Cost at 3000 Skoopas? Give your answer to the nearest hundred

dona;i.c (30) & 52 Nundwe 4

_ 10 hundved
];%Egtg:‘;l“m: 52 hundred

(b) {2 points) At what quantity do you have maximum loss? What is the maximum loss amount?
Give your answer to the nearest hundred dollar.

L oot € Wundved  Skoopas
;:mu?f\&o 39 —¢=2Y Wundred Skoopus

(¢) (3 points) Compute Marginal Revenue at the quantity when you have maximum loss. Give your
answer to the nearest cent.

— 35 llars per Skoopa
clope & 55— 3 — 1.0 doliars pe
P 8571.5—AS

(d) (1 point) Without any computation, what do you expect Marginal Revenue at the quantity where

RS showld be same as (c) tf your ver¥ad drghandd
quess b (o) was good -

(e) (3 points) What is the Breakeven Price? Give your answer to the nearest cent.

] Q’.,_:)_i,/l,_\.‘f_] dollars Per Skoopa_
Pl %<
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3. The following are graphs of Average Cost, Marginal Cost and Average Variable Cost for producing and
selling Piatos. Answer the following questions based on this graph. Label any lines you draw on the
graph with the letter of the question so we can follow your work. Include UNITS with your answers.

AVC, AC and MC Graphs for Producing Piatos
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(a) (1 point) What is the Breakeven Price? Round your answer to the nearest 10 cent.

& 3.50 dollurs per Piato

(b) (1 point) What is the Shutdown Price? Round your answer to the nearest 10 cent.

- 3.00 dollars per Piato

¢) (2 points) If you sell each Piato for 4 dollars, at what quantity is the profit maximized? Round
¥
vour answer to the nearest hundred Piato. X
Pratos

At abowt 6§ hundwd

(d) (4 points) What is the maximum profit? Round your answer to the nearest hundred dollar.
s K
)

AR L g dred dollars
AT e 0y s

2 PLAE) = R7A-238 =34 hundred Jollars

{e) (3 points) Approximate the Fixed Cost. Round your answer to the nearest hundred dollar.

At any MR wus g=/0 | & i st
= % T¢lio)=10% )rcuo\klo»zw.qh_%_}ft el

—joxAveloYx oY 11 =
5 F\Ié‘,-(l?r\ clo\-velio) = 109-71= 9.2 hundizd dollars
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4. The two parts of this question are not related.

(a) (4 points) Solve for y in terms of z:

/ \ (-4,
IS E I LU R
L

(b) (4 points) Find the equation of the line through the points (1,3) and (7,6). Give your answer in
* the form y = mx + b.

i =2 =
S}DP& m= =7 6
equa\(\bﬂi
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quplify = Y=7*"2
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